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Part A

Section Id : 920906521
Section Number : 1
Section type : Online
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Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
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Sub-Section Number : 1
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Question Shuffling Allowed : No
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Question Id : 92090626321 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fArAfafad Y & smuR W Uyl & IR e -

gieal ¥ 3FH 3R ufdyr theq ardl 39 ardedl 3 W itdd o9 & 79 | o)
I3t g1, FeaT SR [y o & § 6 7o oieg 89 &1 0aR A giall SR @l
ISR 1 WHR $I B UKd ol dfHd AR oI Ui & Hg Jrsdl g1 A9l HT ISR
YNUEH HaRI T Gg [dAY FA @Al ¢1 91d dP dRdiddal ®1 el UgdiH dd del
a1 @1 FHmior 781 e S, gida feam arar Gg 396 faviy &1 ISR gl &, [ 9 &
B A8l g

BRI H YHIGETE] WRBR & dle HH-YUR 1] §UI 89RI Uhsi & Y Arfcrs
Gl B SHHE BiFaR Y feaEl @1 & oF @ h wfedt @ dfd ok aiftd YR
fErami ¥ o/F Fel — 39 WH &I FHF | § 4 §19 Uhs qH @ o), @ s A odTd 31 - derd
fael $ad! U B A R FHedll By HR A7 3R, 1 Iod B 3T H Fe g! HAHd W
&1 bl 1 Sd1d &1l | dial-dran g ¢l wnfgu fdt &t safi

Sub questions

Question Number : 1 Question Id : 92090626322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S{efayr A arell dredl A o1 Y, et 3R [y el o &3 82

(1) A ufas & A (2) NS H A
(3) W UIfSd & & | | @) TPIFiFHAH
Options :

920906104001. 1
920906104002. 2
920906104003. 3
920906104004. 4

Question Number : 2 Question Id : 92090626323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & ISR 1 WIHR H3 &1 d4R T8l 62

(1) oH 2) &
(3) g (4) 44
Options :

920906104005. 1
920906104006. 2
920906104007. 3
920906104008. 4

Question Number : 3 Question Id : 92090626324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B # YA YR & 1] gU?

(1)  YHEAK] WER & 9l 2) FUY IR $ 9l
(3) SO W¥PR & dIg 4) Thgd WER H dIg
Options :

920906104009. 1
920906104010. 2
920906104011. 3
920906104012. 4

Question Number : 4 Question Id : 92090626325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

weId faa dad &1 1 3 82

(1)  HAFI 9elgd &1 &1 gl (2) ATEAIUS Bl gl
) GRO THARTST IS Al (4) T TS Hal gl

Options :

920906104013. 1
920906104014. 2
920906104015. 3
920906104016. 4



Question Number : 5 Question Id : 92090626326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfdd G aren Wg fhas fady &1 RieR g2

() o€ 98 gad AT Iredi g | (2) ToFR 98 gad g1 AEar gl
(3) g 98 g 78 AT Frgar g (4) T8 371 wedm e 3|

Options :

920906104017. 1
920906104018. 2
920906104019. 3
920906104020. 4

Question Id : 92090626321 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

FAfafad Teiw & SR W Ui & IR e -

giedi ¥ 3 iR sfufay™ T arell 39 didal 3 W Wifsd o9 & 79 | o
At g1, FeaTl iR [ayr o & § 6 (oW oieg 89 @1 daR T8 giall SR @l
ISR g WeHR $3 B Uxd el dfed SHfUER & wiftg & He Orsdl g1 9 $1 RIeR
YU aRI 1 Gg [dAY FA @Al ¢1 o/d d dRdiddwal &1 Hel g dUd dal
o1 &1 Aoy 1€ frar o, gfdd Rar arer @g 39% 3Ry &1 RIeR g g, 7 98 gaa
BN Il B

B H GHISEE] TR & 91 YH-JUR aF gU| g9kl Udhe! & Yl wifes
Gl B ol e Yt feael &1 4 o it afedl 9 9 o fta e
a9 o/d Fel — 39 GH B T 4 4 619 v o d o), @ P A 9a1d 391 - agia
faell Fad! g 1 SHH W Foall HY R 2 3R, T oG B M H Sl g! AW W
W1 6l 1 Sfd1d 37| dia-dian g =81 Fifgu fadt &t sl

Sub questions

Question Number : 1 Question Id : 92090626322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfefasra Temm arell dredl A 3 He, et 3R fayra el o fad g2

(1) A wfas & AT H (2) NS S HAH
(3) UM UIfSd oH & A H 4y fPaAId A H
Options :

920906104001. 1
920906104002. 2
920906104003. 3
920906104004. 4

Question Number : 2 Question Id : 92090626323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T ISR 1 WHR 6 B 9UR Tl 22

(1) oH 2 &
(3) g (4) S4O4
Options :

920906104005. 1
920906104006. 2
920906104007. 3
920906104008. 4

Question Number : 3 Question Id : 92090626324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EMARE # HH YR & 1] gu?

(1) HHSERE! PR & €[5 (2) HEY DR & dlg
(3)  MISUI PR & dIg @4) dIPed WHR & dlg
Options :

920906104009. 1
920906104010. 2
920906104011. 3
920906104012. 4



Question Number : 4 Question Id : 92090626325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wTeId faa daa &1 1 3 &2

(1)  HAHI §gIgd &1 & g (2) AEAITS Hdl g
3) GBI AHARBeNPABIAl  (4) U Hal gl

Options :

920906104013. 1
920906104014. 2
920906104015. 3
920906104016. 4

Question Number : 5 Question Id : 92090626326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hidd 3R are 9g fFae fady 1 ReR 82

(1) 52 98 Yod HYAT AR 2| (2) 58 98 gad ST Iedi ¢
(3) forg 98 Yad 71 S TrgdT | (4) g 31 wedi firer 2

Options :

920906104017. 1
920906104018. 2
920906104019. 3
920906104020. 4

Sub-Section Number : 2
Sub-Section Id : 920906848
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafefad # @ arae @f fafgd $ifee

1y (2) ™
3 < @ U
Options :

920906104021. 1
920906104022. 2
920906104023. 3
920906104024. 4

Question Number : 6 Question Id : 92090626327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa 7 @ arae @l Rt Fifu:

(1) @ (2)
(3 < 4 U
Options :

920906104021. 1
920906104022. 2
920906104023. 3
920906104024. 4

Question Number : 7 Question Id : 92090626328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hare H &1 | I 87

1y = (2) §H
3) ¥ 4 91
Options :

920906104025. 1
920906104026. 2
920906104027. 3
920906104028. 4



Question Number : 7 Question Id : 92090626328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty # 19 91 I §?

1y (2 ¥
@3 3 4) 91
Options :

920906104025. 1
920906104026. 2
920906104027. 3
920906104028. 4

Question Number : 8 Question Id : 92090626329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETG B! Yol &I oIl g1 W F8Tge 31 87

(1) fo (2) HRE
(3) HEl (4) oo
Options :

920906104029. 1
920906104030. 2
920906104031. 3
920906104032. 4

Question Number : 8 Question Id : 92090626329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI B! Gl Bl Il g1 T JgTg &1 82
(1 f (2) BRD
(3) Hal (4) fagmo



Options :

920906104029. 1
920906104030. 2
920906104031. 3
920906104032. 4

Question Number : 9 Question Id : 92090626330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafaa ¥ § SeR Wl # S 91 Wrsg gfew 82

(1) (2) =
(3) ddd @) A
Options :

920906104033. 1
920906104034. 2
920906104035. 3
920906104036. 4

Question Number : 9 Question Id : 92090626330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffafad & @ SHRI Usal H S a1 Wsg Yfewd 1 82

(1) O 2) A<
(3) dHd @ I
Options :

920906104033. 1
920906104034. 2
920906104035. 3
920906104036. 4

Question Number : 10 Question Id : 92090626331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefad # 9 g 91 vgaie:

(1) UP g urE are | (2) U Ul & e ansi|
(3) U frdrd ur-l &1 aredl| (4) Ul &1 UE e arsi|
Options :

920906104037. 1
920906104038. 2
920906104039. 3
920906104040. 4

Question Number : 10 Question Id : 92090626331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fafad @ 9 g 9/ ugaie:

(1) TP g ur=t ara| (2) U UHl &1 e anai|
(3) U frdrd urEt &1 aredl | 4) Ul &1 uE e arsii
Options :

920906104037. 1
920906104038. 2
920906104039. 3
920906104040. 4

Question Number : 11 Question Id : 92090626332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe 5tan 6=12, Al cosf—sind & HA FTd BifU|

M - Gj. 2

13

1 27

3 -— 4] —

(3) 3 (4) 20
Options :

920906104041. 1



920906104042. 2
920906104043. 3
920906104044. 4

Question Number : 11 Question Id : 92090626332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg 5tan #=12, Al cosf—sind B AF FId HifeU|

1 -1 2) —
(1) (2) &
w el gy, 2
(3) 3 4) 20
Options :

920906104041. 1
920906104042. 2
920906104043. 3
920906104044. 4

Question Number : 12 Question Id : 92090626333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofl srafe o 60% FHERI U39 & | FRTTT & UH gA1d T 40% Alemsi aul 60% JSui 4
3= & ua T die fan s ! fire diel &1 ufawrd &:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906104045. 1
920906104046. 2
920906104047. 3
920906104048. 4

Question Number : 12 Question Id : 92090626333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4l Frafay ¥ 60% FHAR] YN €| SRTad & TP g1 H 40% Afgesii a4 60% Joui A
3] & ug H die fan| 35 &1 el 91el &1 ufaerd @:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906104045. 1
920906104046. 2
920906104047. 3
920906104048. 4

Question Number : 13 Question Id : 92090626334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B ST B I I €1 a1 Has [l b1 &l 24 39 T QU1 &d €1 B bl 39 B
@ foba f&a J g v gbmm?

(1) 36 (2) 54
(3) 72 4 90
Options :

920906104049. 1
920906104050. 2
920906104051. 3
920906104052. 4

Question Number : 13 Question Id : 92090626334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B BRIEHA B I AT &1 a1 HadR el 1 & 24 &9 § QU &d €1 B Sidhall 39 &l
@ fdbaH A | g1 6 gabmm?

(1) 36 (2) 54
(3) 72 4) 90
Options :

920906104049. 1



920906104050. 2
920906104051. 3
920906104052. 4

Question Number : 14 Question Id : 92090626335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUI B S 2:3 B U & adl 39 g 4 : 5 S U H ¢ | afg I7®! a9d HHAL:
% 9,000 94T, ¥ 17,500 €, A A BI 319 F1d Hifeid|

(1) T 12,500 (2) ¥ 25,000
(3) T 37,500 (4) T 50,000
Options :

920906104053. 1
920906104054. 2
920906104055. 3
920906104056. 4

Question Number : 14 Question Id : 92090626335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUIBHI AT 2:3H U & ayl I9d AT 4 : 5 F U § ¢ | IS I7! I9d HHA:
% 9,000 941, ¥ 17,500 €, 1 A B 319 J1d Pifeg|

(M ¥ 12,500 (2) ¥ 25,000
(3) T 37,500 (4) ¥ 50,000
Options :

920906104053. 1
920906104054. 2
920906104055. 3
920906104056. 4

Question Number : 15 Question Id : 92090626336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A A <1 axgsil & ¥ UAS B T 4,000 H o971 3R Fal DR I8 9 SIS arH gl IR A
PE g1 T U g 25% T T W1y 31 7T o g avg A9 WA g

2
(1) 20% 2) 18-%
9
9 3
(3) 16 5% (4) 151‘}
Options :

920906104057. 1
920906104058. 2
920906104059. 3
920906104060. 4

Question Number : 15 Question Id : 92090626336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAfem 3 <1 axgsil ¥ @ UAS B T 4,000 ¥ 997 3R $ [AB IY  HIS A1H g3 R A &l
FTS B T T ag 25% T F WY 3 7 o g g §9 W @1 g

2
(1) 20% (2) 18%%
2 3
(3) 16 E% (4) 151%
Options :

920906104057. 1
920906104058. 2
920906104059. 3
920906104060. 4

Question Number : 16 Question Id : 92090626337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s A3 $e U1 §, CHIRCAR @1 3214384 & ¥4 T 3R CROADS ®I 345867 & ¥4 &
Hicd &g STd1 81 39 U1 H HARTROADS &1 e & &4 o fed favar sramm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906104061. 1
920906104062. 2
920906104063. 3
920906104064. 4

Question Number : 16 Question Id : 92090626337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& A3 $e U1 H, CHIRCAR @1 3214384 & ®U H 3R CROADS &I 345867 & ¥4 &
@fcd & STdl 81 39 U H HARTROADS &1 e & &4 o fed favar sarm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906104061. 1
920906104062. 2
920906104063. 3
920906104064. 4

Question Number : 17 Question Id : 92090626338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 goi 30 [ g9 I uSl &1 g3l & ol &1 610 Jid SIS

(M 65" (2) 750
(3) 850 (4) 105°
Options :

920906104065. 1
920906104066. 2
920906104067. 3
920906104068. 4



Question Number : 17 Question Id : 92090626338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 g 30 T B9 WR Ut 31 Y3di & i &1 S0l Jid Dife|

@) 659 (2) 759
(3) 850 (4) 105°
Options :

920906104065. 1
920906104066. 2
920906104067 3
920906104068. 4

Question Number : 18 Question Id : 92090626339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fu U gw & So-yfdfara ST g g e “VAYU 84 3 6~

(M AVANB4E®Q
(20 AVANBY39
(3) AVANBH3R
4 AVANBTER

Options :

9209061040609. 1
920906104070. 2
920906104071. 3
920906104072. 4

Question Number : 18 Question Id : 92090626339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e gm & Sa-ufafea FT At s Sifce«VAYU 84 3 6

() AVANB4E?Q
2y AVANB® 3@
(3) AVANBWY3Q
4 AVANBTER
Options :
9209061040609. 1
920906104070. 2

920906104071. 3
920906104072. 4

Question Number : 19 Question Id : 92090626340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3P (X) BT HEl qUUI-fcifara AT -
g -
SIPI (X)

@]

(2)

(3)

(4)

Options :
920906104073. 1



920906104074. 2
920906104075. 3
920906104076. 4

Question Number : 19 Question Id : 92090626340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P (X) BT el quu-Ufdfard gHT ;
% -
Mz
SHIA (X)
o
(2)
(3) o
@ o
Options :

920906104073. 1
920906104074. 2
920906104075. 3
920906104076. 4

Question Number : 20 Question Id : 92090626341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 € Sy RU U §: U ity A & w9 ¥ forfed § o gEv 39

PRUR B EUH gl

HUDBYT A :  TH 81 & TR HTHRN H SR I8d ¢, FiTd b9l gdl DI a1 A
T g91 HH TUA 8id! g

FRUIR : AYAHE F&H 91 19 &1 A{dH dedl 6

IR HY & Maid |, A1 AU 10 fdswedi 1 8 9l IR &1 994 Sifou

(1) A SIRRGH 98l € 3R, A P Ul TAT &

(2) A SIRREH HEl € AfPR, A T Ul RS 7ol &
(3) AUER AP RS TR

(4) ARG AfBTRIEE

Options :

920906104077. 1
920906104078. 2
920906104079. 3
920906104080. 4

Question Number : 20 Question Id : 92090626341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 € Sy GU U §: U siftdye A & w9 H forfed § ol gEv 39

PRUR B EUH gl

HUPYT A : THEA F [N SR H FHWR I3d §, Fifd ol gdl & ga-l A
TH a1 HH T 8idl 6

FRUR : A9HHE F&H 9 19 &1 {dH dedl g

TRIFd HYA & i H, A fou U fawedi § 3 9l It &1 994 Sifore
(1) ASIRRGH HEl & 3R, AP Ul A=A &

2) A SR RTH TE € dfba R, A BT HEl AR T8l 8

(3) ATEIR AP R IS T8

(4) ATSTEE AfFTRUER

Options :



920906104077. 1
920906104078. 2
920906104079. 3
920906104080. 4

Question Number : 21 Question Id : 92090626342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty HEmR & fae & fore it agefsr ufden S ERIYE B TR
(1) W4 Riweia (2) Sf18.&. ToRTA

(3) HHEA e 4) ofed faerd) g

Options :

920906104081. 1
920906104082. 2
920906104083. 3
920906104084. 4

Question Number : 21 Question Id : 92090626342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e wemnt & e & for w@ i Tqys ufasm & R IR B T |
(1 ddl RREIE (2) SMS.F. ToRTd

(3) wHREH g (4) ofed fagr areudt

Options :

920906104081. 1
920906104082. 2
920906104083. 3
920906104084. 4

Question Number : 22 Question Id : 92090626343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERA K IC ATk -
Y| - MA3e A el 3 Aviiat I Fues & e Yag iR aig &t =ifa s 4t

HUF Il : IR GHIY 3R HR g8 gl Ha3g A Aol F RaR & Hid 4|
SR HYH & el |, 1 fau 71u fdswed] & 4 Tl I &1 999 $ifeiw

(1) ®UF | 3R 11 el §
(2)  HYFI R 1 EHI TTAd §
(3) HYTI TGS AfbTIHYT I TTAd §
(4) PYTI7Ad g, AlPA BT TSI &
Options :
920906104085. 1
920906104086. 2

920906104087. 3
920906104088. 4

Question Number : 22 Question Id : 92090626343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEA I AT 1S
DY | - HAIEA el 7 Al § e & o wad ok die @ Aifa sigam <

HYF Il SR G 3R HR g8 gl Har3e A Racroll & GRaR & &id 41
S HYF & 3Mclld 1, 1 fSu v fawedl 1§ 9 9l 3w &1 994 $ifeiw

(1) DY IMRNITA TS
(2)  HYAI R I EH Tad §
(3) ®UFITel g, Afbd YA 11 TTad &
(4) BYTITAd g, Al HUF 11 Tl 8
Options :
920906104085 1
920906104086. 2

920906104087. 3
920906104088. 4



Question Number : 23 Question Id : 92090626344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpafafad ¥ @ oF W 3 3fEd 9 3 79 TR @ gl

() Rory - gew s (2) fad - am. pwngd
(3) UHed - MRl fiad @) = FR -G el
Options :

920906104089. 1
920906104090. 2
920906104091. 3
920906104092. 4

Question Number : 23 Question Id : 92090626344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefafad 3 @ o 91 gm 3R © 9 3 3d 981 @i gl

()  Rary - g siar ) faul - 3R, Feongfd
(3) WEed - UGl i (@) "I PR - T el
Options :

920906104089. 1
920906104090. 2
920906104091. 3
920906104092. 4

Question Number : 24 Question Id : 92090626345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Fry g 11 B e Fifore

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) e Al (V) IS5 wE

19 fau U faeed] O 9 Hel It &1 994 Hifert:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906104093. 1
920906104094. 2
920906104095. 3
920906104096. 4

Question Number : 24 Question Id : 92090626345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & 91y gl 11 61 A Sifse

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) @™ Il (av) % TS

4 fSu U fadedl A A Wl It o1 994 ifee:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906104093. 1
920906104094. 2
920906104095. 3
920906104096. 4

Question Number : 25 Question Id : 92090626346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HiAId dR & dgR &1 3y & fou 7 &1 I fvar Srar g |
(1) BRI 2) R

(3) SRR 4) TR

Options :

920906104097. 1
920906104098. 2
920906104099. 3
920906104100. 4

Question Number : 25 Question Id : 92090626346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

% HiId IR & SIdgR &1 30U & fou T3 &1 IUanT fobar S g |
(1)  BEIHR (2) WA

(3) SRHEeR 4) BIESHIR

Options :

920906104097. 1
920906104098. 2
920906104099. 3
920906104100. 4

Part B: Public Health

Section Id : 920906522
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906849
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090626347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  'Rule of halves’ phenomenon is seen in Hypertension.

Reasons (R) : ‘Tracking of blood pressure’ is seen in Hypertension.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)w
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

Options :

920906104101. 1

920906104102. 2

920906104103. 3
920906104104. 4

Question Number : 26 Question Id : 92090626347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

99 I Y QU T § UF SUSY (Assertion A) & ¥U ¥ foifdd § @ ¢RI 39S
HRU (Reason ma?m H:

fYFEYT A - 3quiar oW ¢ aivee I=Radan § aiaféd g g
HRUIR - o o1d B FTRAY SRy A uRaf[ e 8 |
I HYA & AP H g e U fasedi J 9 Hal IO &1 994 Sifold

1) AARREAFEI § 3R R, A DI TS RS B

2) AR REH Fel € dfh R, A P Fel SARSAT -6 &
3) AUEE AFTRTGTEE

(4 AT SIS APTREE B

Options :

920906104101. 1
920906104102. 2
920906104103. 3
920906104104. 4



Question Number : 27 Question Id : 92090626348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diptheria is causes by

(1) Staphylo coccus (2) Corynebacterium
(3) Streptococcus (4) Meningococcus
Options :

920906104105. 1
920906104106. 2
920906104107. 3
920906104108. 4

Question Number : 27 Question Id : 92090626348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afgl (FEwdifan FafafEea & srRu A g

(1) WEHEADEY (2) WDINAGRIRGH
3) EPIDIHY @) AfT®IET
Options :

920906104105. 1
920906104106. 2
920906104107. 3
920906104108. 4

Question Number : 28 Question Id : 92090626349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a particular oxygen is mixed with antibody in the presence of an electrolyte at a
suitable temperature and PH the particles are clumped, this is called

(1)  Precipitation (2) Agglutination
(3) Neutralisation (4) ELISA
Options :

9209061041009. 1
920906104110. 2



920906104111. 3
920906104112. 4

Question Number : 28 Question Id : 92090626349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid Big UCIo $UI IUGad did 3R PH TR Sadeiaige @i Juredfd ¥ tdiars! & |y firamn
ST 8, & B YRTd 81 91 | 3 Fel oIl &

(1) S@agu (2) HHEA
3) IeRiFIHI (4) uferdr
Options :

920906104109. 1
920906104110. 2
920906104111. 3
920906104112. 4

Question Number : 29 Question Id : 92090626350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Daily requirement of lodine in adults is

(1) 50 mcg (2) 100 mcg
(3) 150 mcg (4) 200 mcg
Options :

920906104113. 1
920906104114. 2
920906104115. 3
920906104116. 4

Question Number : 29 Question Id : 92090626350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U] 7§ SIS &1 2R sravgdar fdt gidt 27

(1) 50 mcg (2) 100 mcg
(3) 150 mcg (4) 200 mcg

Options :



920906104113. 1
920906104114. 2
920906104115. 3
920906104116. 4

Question Number : 30 Question Id : 92090626351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BOAA is the toxin responsible for

(1)  Neurolathyrism (2) Epidemic dropsy
(3) Fluorosis (4) Endemic Ascites
Options :

920906104117. 1
920906104118. 2
920906104119. 3
920906104120. 4

Question Number : 30 Question Id : 92090626351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BOAA Fufeiad & ¥ fues fou Iarerd faw @1feam) &2

(1)  difreeamEy (2) SILNE HEMHR]
3) TERIEE 4) WS Fae
Options :

920906104117. 1
920906104118. 2
920906104119. 3
920906104120. 4

Question Number : 31 Question Id : 92090626352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Acute severs malnutrition diagnostic criteria include all except

(1
(2
(3
4

) Bipedal edema

) Mid arm circumference below 115 mm
) Visible severe wasting
)

Weight for height below 25D of WHO Growth standards 2006.

Options :

920906104121. 1
920906104122. 2
920906104123. 3
920906104124. 4

Question Number : 31 Question Id : 92090626352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dd MR pum Fem amds & Fofafed # 9 feu te & sramar @it e 8 2

(1) fgug wem

(2) ARG S Uiy 115 Pt @ oA

(3) T IUR &R

(4) Ty wreaETe 9fE WHS, 2006 & 250 T AR P IAES o UR
Options :

920906104121. 1
920906104122. 2
920906104123. 3
920906104124. 4

Question Number : 32 Question Id : 92090626353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DASH stands for

(1)  Domestic approach to safeguard hepatitis
(2)  Dietary approaches to stop hyperlipidemia
(3)  Domestic approaches to stop hypertension
(4)  Dietary approaches to stop hypertension
Options :

920906104125. 1
920906104126. 2
920906104127. 3
920906104128. 4

Question Number : 32 Question Id : 92090626353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

391 (DASH) &1 319 §:

(1) SHRe® UE ¢ IHMS guersied

(2) SEed U ¢ W sRwRiaiis im

(3) SR YRS ¢ ¥Y eRWeTH

(4) STaedl 3UES ¢ W gluRe<H
Options :

920906104125. 1
920906104126. 2
920906104127. 3
920906104128. 4

Question Number : 33 Question Id : 92090626354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common cancer, affecting both males and females of the world is :

(1) lung cancer (2) Pancreatic cancer
(3) Buccal mucosa cancer (4) Colorectal cancer
Options :

920906104129. 1
920906104130. 2



920906104131. 3
920906104132. 4

Question Number : 33 Question Id : 92090626354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fas & geul SR nfgansi S &1 uuIfdd S arar Yaifte I b A (HIR) &

(1) hs $l HE (2) SFEONEE HFHR
(3) WY A HER (4) Pioaed U
Options :

920906104129. 1
920906104130. 2
920906104131. 3
920906104132. 4

Question Number : 34 Question Id : 92090626355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common cause of blindness in India is

(1 Refractive errors (2) Trachoma
(3) Cataract (4) Vitamin A deficiency
Options :

920906104133. 1
920906104134. 2
920906104135. 3
920906104136. 4

Question Number : 34 Question Id : 92090626355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H 3itdT &1 Jalite GH- BRI E ;

(1)  Suades Ffear () T
(3 Hifaafa< (4) Tdeii A &t e

Options :



920906104133. 1
920906104134. 2
920906104135. 3
920906104136. 4

Question Number : 35 Question Id : 92090626356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In post disaster phase, for ensuring safe water supply, it is advisable to have a residual
chlorine level of

(1) 0.3 mg / Liter (2) 0.5 mg/ Liter
(3) 0.7 mg / Liter (4) 1 mg/ Liter
Options :

920906104137. 1
920906104138. 2
920906104139. 3
920906104140. 4

Question Number : 35 Question Id : 92090626356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR SAUET fae1 H, GRA& Seirgfd &) GREd & forg, saf¥y add= o1 fafafad &R
IRy BYa 8:

(1) 0.3 e (2) 0.5 Ty
3) 0.7 fEmyeteR @) 1 fAydeR
Options :

920906104137. 1
920906104138. 2
920906104139. 3
920906104140. 4

Question Number : 36 Question Id : 92090626357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Family, which lags behind rest of the community, is known as:

(1)  Community Family (2) Elementary Family
E) Problem Family (4) Broken Family
Options :

920906104141. 1
920906104142. 2
920906104143. 3
920906104144. 4

Question Number : 36 Question Id : 92090626357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FHEEY fies S arel URaR $edardl g :

(1) 9 aRaR (2) SRIYE ular
(3) THH- gRaR (4) dEfed- AR
Options :

920906104141. 1
920906104142. 2
920906104143. 3
920906104144. 4

Question Number : 37 Question Id : 92090626358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inner subjective thought of a person towards an Individual or a situation is best
described as:

(1) Attitude (2) Value
(3) Belief (4) Opinion
Options :

920906104145. 1
920906104146. 2
920906104147. 3
920906104148. 4

Question Number : 37 Question Id : 92090626358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fpuht safee o1 fufg & ufa Gt oafea & smofte fawafy fear & Fofefeg wu &
gai| ¢ afifd i S g

1y sifvgRa 2) "™
3) faym™ (4) Hd
Options :

920906104145. 1
920906104146. 2
920906104147. 3
920906104148. 4

Question Number : 38 Question Id : 92090626359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Social pathology is:

(1)  Change in disease pattern due to change in lifestyle.
(2)  Study of social problems, which cause disease in population.
(3)  Conflicts arising from new opportunities in transitional societies.
(4) Study of human relationships and Behavior.
Options :
920906104149. 1
920906104150. 2

920906104151. 3
920906104152. 4

Question Number : 38 Question Id : 92090626359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) oitg 9eil | uiadd & SR I9 uioey § giadq

2) 3 IS TERS &1 S o oS B I S IRP ¢
(3)  uRadl (HeHvig) TATE § AU 3l ¥ 3Ud o5

(4)  H-d Hdtll Ud SAdegR &I (0



Options :

920906104149. 1
920906104150. 2
920906104151. 3
920906104152. 4

Question Number : 39 Question Id : 92090626360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Period between the possible time of detection and the actual time of diagnosis is

(1 Lead time (2) Serial Interval
(3) Screening time (4) Generation time
Options :

920906104153. 1
920906104154. 2
920906104155. 3
920906104156. 4

Question Number : 39 Question Id : 92090626360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YHIFAd Ya $1d SR dRdfd® FeH & & fag o1 s@fd g

(1) WISTREH (2)  4Edl
(3) wid g 4) Ui
Options :

920906104153. 1
920906104154. 2
920906104155. 3
920906104156. 4

Question Number : 40 Question Id : 92090626361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Human Development Index (HDI) does not Include which of the following :

(1)  Mean years of schooling (2) Life Expectancy at age 1
(3) Real GDP per Capita. (4) Adult Literacy rate
Options :

920906104157. 1
920906104158. 2
920906104159. 3
920906104160. 4

Question Number : 40 Question Id : 92090626361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 [de YEdis (HoN) # Fafafad 3 4 oF w miia 788 2

(1) Ta=nerdt fRien & Areg ad (2) 199 BT Y W Siia- U
(3)  Ufd =afad arafas® off S it (4) TP BRI &%
Options :

920906104157. 1
920906104158. 2
920906104159. 3
920906104160. 4

Question Number : 41 Question Id : 92090626362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Virulence of a disease is Indicated by :

(1)  Proportional mortality rate (2) Specific mortality rate
(3) Case fatality rate (4) Secondary attack rate
Options :

920906104161. 1
920906104162. 2
920906104163. 3
920906104164. 4

Question Number : 41 Question Id : 92090626362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fepdt 31 61 Iuar Fuafafaa & gr fAfde ed &

(1)  FHEAAdS Jg &1 @ RRPIgR
3) HUHFG®R (4) fedla® smama R
Options :

920906104161. 1
920906104162. 2
920906104163. 3
920906104164. 4

Question Number : 42 Question Id : 92090626363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Secondary level of prevention include all of the following except :

(1
(2
(3
(4

) Health screening for Diabetes Mellitus
) Case finding for falciparum malaria

) Contact tracing for HIV
)

Reconstructive surgery in Leprosy

Options :

920906104165. 1
920906104166. 2
920906104167. 3
920906104168. 4

Question Number : 42 Question Id : 92090626363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgdias Wiy fFaru & FafafE 7 4 59 e &) Sigs ol siafdy e &

(1) \YAE & e Wy i

2) HRE qold & Ad &1 @
(3) UF 3T dt & ford Eael & o
4) TEH JTRREHS U =R

Options :



920906104165. 1
920906104166. 2
920906104167. 3
920906104168. 4

Question Number : 43 Question Id : 92090626364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Global Eradication of small pox was achieved on :

(1) 26" Oct 1977 (2) 8 May 1980
(3) 17 March 1982 (4) 17 April 1978
Options :

920906104169. 1
920906104170. 2
920906104171. 3
920906104172. 4

Question Number : 43 Question Id : 92090626364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T9P & A4S I BT A&7 HE U b1 7131 o ?

(1) 26 &R 1977 (2) 8W3 1980
(3) 17 HTE 1982 (4) 17 30Ud 1978
Options :

920906104169. 1
920906104170. 2
920906104171. 3
920906104172. 4

Question Number : 44 Question Id : 92090626365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the prevalence of a disease is very low as compared to the incidence, it implies :

(1) Disease is non-fatal

(2)  Calculation of prevalence and Incidence is wrong

(3) Disease is very fatal and / or easily curable.

(4)  Nothing can be said as they are independent
Options :

920906104173. 1
920906104174. 2
920906104175. 3
920906104176. 4

Question Number : 44 Question Id : 92090626365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe fabil A7 Bt AYSH AT UG B ga- H dgd A B, 1 3B 34 7
(1) I TR-FiaIfae® (SMWER) §

2) A1 P AYFHAT 3R 3H9d BT YRG 7Tad &

(3) I SrAftid UTUrER @ SRy U1 WRagds b §

@)  P3 i T8 Hel o Gdhal ¢ aiie d Wad ©

Options :

920906104173. 1
920906104174. 2
920906104175. 3
920906104176. 4

Question Number : 45 Question Id : 92090626366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Serial Interval is

(1)  Time gap between index and primary case
(2)  Time gap between primary and secondary case
(3)  Time taken from receipt of infection to development of maximum infectivity

(4)  Time taken from infection till a person infects another person.

Options :



920906104177. 1
920906104178. 2
920906104179. 3
920906104180. 4

Question Number : 45 Question Id : 92090626366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GG SR ¢
(1) Yadid IR Uuie Amd & &9 e
2) WU SR fgdias amd & &9 IHa=RE
(3)  UHHUI B U § UHTHS & ffedan e # forar mar a7y
4) Tt dofia safda gr et o safaa &1 dofira & o feran man v

Options :

920906104177. 1
920906104178. 2
920906104179. 3
920906104180. 4

Question Number : 46 Question Id : 92090626367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chicken pox is characterized by all except :

(1) Deep seated and multilocular rash
(2)  Pleomorphic stages of Rash
(3)  Rasher symmetrical, centripetal and dew-drop like
(4) Palms and soles not affected by Rash
Options :

920906104181. 1
920906104182. 2
920906104183. 3
920906104184. 4

Question Number : 46 Question Id : 92090626367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad 7 ¥ 5y v &1 Siss 94l 31 Arar (e ules) & sifiaer g2

(1) T8 SR sgwie e

@  ffue @ sgEdl sEwd

3) gufafog e, =i vd o @1 dg & =3 gl §
@)  euferEl SR ded fafet § uqifad 181 el

Options :

920906104181. 1
920906104182. 2
920906104183. 3
920906104184. 4

Question Number : 47 Question Id : 92090626368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not true about Influenza Virus?

(1)  Influenza virus A is subject to frequent antigenic variations
(2)  Antigenic drift is a gradual antigenic change over a period of time
(3)  Antigenic shift is due to genetic recombination of virus

(4)  Major epidemics are due to antigenic drift

Options :

920906104185. 1
920906104186. 2
920906104187. 3
920906104188. 4

Question Number : 47 Question Id : 92090626368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STRIU-T a1y & HaH | Faffad § 9 oF 91 |8l 8] 87

(1) SHqU-ol 938 A IRER etafie uRahl &1 fava g

2 e fEue @ae) s Sraaf A Hie tieie wada g

) el Rt arRy & Safee yAfafiare & sRurgr g
4) UHE HEMIRA] teie f3ue & SRl gl @



Options :

920906104185. 1
920906104186. 2
920906104187. 3
920906104188. 4

Question Number : 48 Question Id : 92090626369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Multi-drug resistant (MDR) tuberculosis strain is one that is :

(1) At least resistant to INH.
(2) At least resistant to Rifampicin.

(3) Resistance to INH and Rifampicin with or without resistance to other anti-7B drug
(4)  Resistant to streptomycin only.

Options :

920906104189. 1
920906104190. 2
920906104191. 3
920906104192. 4

Question Number : 48 Question Id : 92090626369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ¥ o ag-sfme ufeRieh (MDR) FeAT (&) f[aefa 98 g <

(1) HHYSHH IS T Ui 8

) BH Y B Ushiae ufcRid g

3) g ufa-&m I iwierT & ufaRiferi famm ufcRieh INH 3R Isthifya ufeidt 8
(4)  Had KPR ufoidl §

Options :

920906104189. 1
920906104190. 2
920906104191. 3
920906104192. 4



Question Number : 49 Question Id : 92090626370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The drug of choice for treating cholera in adults is single dose of :

(1) Doxycycline (2) Cotrimoxazole
(3) Tetracycline (4) Furazolidone
Options :

920906104193. 1
920906104194. 2
920906104195. 3
920906104196. 4

Question Number : 49 Question Id : 92090626370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D] H PO & IUAR $ T ddbicad simfe Fafiiad of ted @ &

(1) Sleursada (2) SIcHGHSE
(3) cerrsie (4) WRRMGSH
Options :

920906104193. 1
920906104194. 2
920906104195. 3
920906104196. 4

Question Number : 50 Question Id : 92090626371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pre-exposure prophylaxis for Rabies is given on:

(1) Days 0, 3,7, 14, 28, 90 (2) Days0, 3,7, 28,90
(3) Days 0, 3 (4) Days0,7, 28
Options :

920906104197. 1
920906104198. 2
920906104199. 3
920906104200. 4



Question Number : 50 Question Id : 92090626371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yle & fore yd IqurAitadieR) Uhgdiesd e fedr o &

(1) 0.3,7 14,28 904 ¢ (2) 0,37 2890 dfeA
3) o03dfA @) 0,7 28dfA
Options :

920906104197. 1
920906104198. 2
920906104199. 3
920906104200. 4

Question Number : 51 Question Id : 92090626372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  India is in the late expanding phase of demographic cycle.

Reasons (R) : Birth rate in India is declining rapidly.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (4) is not correct but (R) is correct
Options :

920906104201. 1
920906104202. 2
920906104203. 3
920906104204. 4

Question Number : 51 Question Id : 92090626372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

91 @ vy QU U § UF SiUSYT (Assertion A) & ¥U ¥ fof®a § d 11 39S
&R (Reason R) & T H:

AHYFYT A - HRA SHIPD Y T & AR Bl FR AT H g1
PRUIR - HRd H oFHe doll 9 R I 8l
I FHYA & 3l 1 A 3 U fadwed] A 9 9el I &1 994 Hiferg

(1)  AARREAHEI § AR R, A B T AR B

2  ASRREH Gl §, Al R, A D] Tl ARG &
(3) AUEIE AfPIRUS TS

(4 AUEITEIE, APTRULE

Options :

920906104201. 1
920906104202. 2
920906104203. 3
920906104204. 4

Question Number : 52 Question Id : 92090626373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): A catalyst can increase the rate constant to a large extent.
Reasons (R) : By using a suitable catalyst use can significantly increase yield of a
reaction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)

)

(4

(A) is correct but (R) is not correct

{A) is not correct but (R) is correct

Options :
920906104205. 1



920906104206. 2
920906104207. 3
920906104208. 4

Question Number : 52 Question Id : 92090626373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & Y QU U § UF SSYT (Assertion A) F ¥U  H fofdd § @ ¢RI IS
H[I] (Reason Fl]a??t?q ff;

AMFYTA © TP IR AP THF R W] R H d¢l IHhdl gl

HRUR IR IGRD & WA gRI 89 Heayul =4 & &=l siivferar &t Suafer &
i R AFd |

IWRIad HYA & 3fald | A fGU U fadwed] d 9 ¥ol 3O &1 994 Hifoid

(1) ASRREH Hel g SRR A DI el AT §

@  ASRRIHA G T A R A S TS AT E &
(3) AGSE APTRUG TR E

(4) ATRITIE AFTIRIL R

Options :

920906104205. 1
920906104206. 2
920906104207. 3
920906104208. 4

Question Number : 53 Question Id : 92090626374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  India is currently having a demographic dividend.

Reasons (R) : Late expanding stage will have a higher number of economically
productive population and the depending ratios start declining.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R} are correct but (R) is NOT the correct explanation of (A)
(3) (&) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

920906104209. 1
920906104210. 2
920906104211. 3
920906104212. 4

Question Number : 53 Question Id : 92090626374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @ By QU MU § UH SHNDHUA (Assertion A)  FU T fafaad § o g IS

HRU (Reason R]a'?'Fq fl}

AHMBYT A - TAWH H YRd SHifbDg aryiy ot fRufa 7 g1

FRUIR - IR fawaiiid sraw1 ¥ onfifer ¥4 § IUIGH SHEE & T8 I=dR gl
ayT i ¥ &1 gF al

I HYF & feld H A f3U U f[deedi 1 9 9el I &1 994 Hiforg

(1) AARREH FaI § 3R R, A T el ARST B

) ASMRREH UEl € Tl R, A DI UE! SARSAT TG &
(3) AWl g ABIRTS e &

(4) AWETElE, ABTREG €

Options :
9209061042009. 1
920906104210. 2



920906104211. 3
920906104212. 4

Question Number : 54 Question Id : 92090626375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).
Assertion (A):  Ancylostoma duodenale used to be know as old world hook worm.
Reasons (R) : Human are infected when filariform larvae in the moist soil, penetrates

the skin of feet or leg.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1
(
(3
(4

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(%]

)
) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
) (A) is correct but (R) is not correct

)

{A) is not correct but (R) is correct

Options :

920906104213. 1
920906104214. 2
920906104215. 3
920906104216. 4

Question Number : 54 Question Id : 92090626375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 41 Y QU MU § U SfUSYA (Assertion A) & ®U ¥ faf€d § d @RI IS

0] (Reason R) & EY ﬁ;

AUFYT A  THRIARCH SHe-d &1 Ydad! ATH Ui fay e-$ih an|

HRUIR: TS o Hehiid g1d © oid 14 gl § WIgaikdl drdi, id a1 2 &1 &1 &l
Nea sar gl

JUIH $YA F 3fTdlF H, < 30 70 fabedt # I 9l I &1 994 Difow

(1) ASIRRGHI Fel g AR R, A DI Tg! ARAT &

2 A3RRIAGE € AP R A DI G AR Sl €
3) AUGE APTREG TR

(4 AUETEE, APTRULE

Options :

920906104213. 1
920906104214. 2
920906104215. 3
920906104216. 4

Question Number : 55 Question Id : 92090626376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps of Demographic cycle

A Low stationary

B Late expanding
C Early expanding
D. High stationary
E.

Declining

Choose the correct answer from the options given below :

(1) Bo>C—o2A>SESD
(2) DaCoaBa>ASE
(3) DoC—oB2E—A
(4) CoBoaASsD-SE
Options :

920906104217. 1

920906104218. 2
920906104219. 3



920906104220. 4

Question Number : 55 Question Id : 92090626376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi b T eh & FIUH § ;
A g R

B. Jfawr

C. SRS TR

D. 3= @R

E.  BEHMAE

412 fou v fdeedl H | 9gl I &1 999 ol ;
(1 BoCo>ASE—=>SD
(2) DasCaBa>ASE
(3) DaC—aB-a>E—=A
(4) CaoBasAD—E
Options :

920906104217. 1
920906104218. 2
920906104219. 3
920906104220. 4

Question Number : 56 Question Id : 92090626377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Steps of planning cycle

A Assesment of resources

B Analysis of health situation and establishment of goals
G Monitoring and evaluation

D. Fixing priorities

E Write up of formulated plan and programming

Choose the correct answer from the options given below :

(1) BE->D—>C—A
(2) B>A—=a>D—oSE=C
(3) CoE->D->A-B
(4) B—-D—>sA->SE-=C

Options :

920906104221. 1
920906104222. 2
920906104223. 3
920906104224. 4

Question Number : 56 Question Id : 92090626377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foriTer = & TIIM &

A, T BT M

B. Tarey feyfadl &1 fagamur 3R deg-fFufur
C.  3f¥aul 3R Hid

D. Wfedr dg &1

E TFE< dI9HT 3R S1wH fharaga &1 e
2 feu v fasedt # ¥ gl I &1 9g4 Bifo

(1) BE->D->C—oA
(2) BoA—>D—oSE-SC
3 C—sE-D->A-—-B
(4) B>D—=sA—=E=C

Options :



920906104221. 1
920906104222. 2
920906104223 3
920906104224. 4

Question Number : 57 Question Id : 92090626378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Important steps of krebs cycle

A Succinate
B Malate

C a—Ketoglutarate
D. Citrate
E.

Oxaloacetate

Choose the correct answer from the options given below :

(1) A-E—=>D->B =>C
2) DoC>A—->B->E
3) DaBaCoaE= A

)

(
(
(4 A-D—oB-oE->C
Options :

920906104225. 1
920906104226. 2
920906104227. 3

920906104228. 4

Question Number : 57 Question Id : 92090626378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A THHE

B. Wdc

C.  ofdergee

D. WRgT

E.  ofidoidiuagee

e fau U faehedl # 9 Tl IR &1 99 Hif

(n A=-E—=D—-=8B >C

2) DoCo>AB-oE

(3) DoaB->C—oE=A

(4) A->D—-2B-oE->C
Options :

920906104225. 1
920906104226. 2
920906104227. 3
920906104228. 4

Question Number : 58 Question Id : 92090626379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Phases of clinical trial

A Safety and efficacy

B Safety and Dosing

E Laborating studies

D. Post marketing safety and efficacy
E,

Safety evaluation at intial stage

Choose the correct answer from the options given below :

(1 CoBoaDoaE=SA

)
(2) BoE—=A->C-=SD
(3) CA->D->B->E
(4) CoE—=B-sA->D

[t



Options :

920906104229. 1
920906104230. 2
920906104231. 3
920906104232. 4

Question Number : 58 Question Id : 92090626379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ufam #1 sl B

A R R UMIiddHal

B. Y&l 3R GIH
DTSl ST

C.

D. IR f[quur gram sk yuifdesan

E. SRS 3fawIT IR Y& Hedid

19 fau 70 fasel # 9 |l 39 &1 994 S -

(1
(2
(3
(4

) C>B->D-SE—=A
) BoE—-A-C->D
) Co>A=>D-B-E
) CoE-B—>A->D

Options :

920906104229. 1
920906104230. 2
920906104231. 3
920906104232. 4

Question Number : 59 Question Id : 92090626380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Step to conduct a Randomized Controlled Trial (RCT)

A. Randomize
B Select experimental or study population
G Target population

D. Assesment
E

Manipulation and follow-up

Choose the correct answer from the options given below :

(1 DoC—>E->B-oA

(
(3
(4

P

)

) A=3E->C—>B->D
) CoBoA—->E=D
)

CaoEaB=2ASD

Options :

920906104233. 1
920906104234. 2
920906104235. 3
920906104236. 4

Question Number : 59 Question Id : 92090626380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grRfdIHd FHfd aftemn (RCT) #3A & HIUH €

A TR &

B. UM g1 3y S-HS &1 94
C. wiedd s &1 9

D. HdidA

E.  §% DINd 3R U

419 fau U f9sedl # ¥ Wgl IR &1 99 Hifolg ;
(1)

(2)

E) Co>B—oA—>SE=D
(4) CoE->B->A->D

DsCoESB—=A

AasEaCoaBoD

Options :



920906104233. 1
920906104234. 2
920906104235. 3
920906104236. 4

Question Number : 60 Question Id : 92090626381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps of surveillance cycle model

A Analysis and interpretation
B. Collection of data

9 Integration

D. Dissemination
£

Surveillance products

Choose the correct answer from the options given below :

(1) B—-D—SE—=A—->C
(2) B==C—oE—-D=A
(3)
(4)

BoCoASE—=D

BoD—3A->C—=E

Options :

920906104237. 1
920906104238. 2
920906104239. 3
920906104240. 4

Question Number : 60 Question Id : 92090626381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR 9% Aisd & 9HE &
A Az 3R Ad=m

B. TUUWE
2 HHhelH
D. WHR
I CU G RC I
At fau ¢ fasedt # 8 Wel 3R &1 99 Hifo :
() BoD-o>E->A-C
(2) E-C—oE->D=SA
3) B>C—-o>A->E->D
(4) BoDa3A->C—>E
Options :

920906104237. 1
920906104238. 2
920906104239. 3
920906104240. 4

Question Number : 61 Question Id : 92090626382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of epimer

(1) Mannose and glucose (2) Glucose and Ribose
(3) Galactose and Mannose (4) Glucose and Galactose
Options :

920906104241. 1
920906104242. 2
920906104243. 3
920906104244. 4

Question Number : 61 Question Id : 92090626382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UfR &1 I Fgfaed o 3 &1 91 g2

(1) B SR @l

(2) TIPS 3R A

3) Tdeed R3S

4) TIPS SR TS
Options :

920906104241. 1
920906104242. 2
920906104243. 3
920906104244. 4

Question Number : 62 Question Id : 92090626383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Muscle cannot maintain blood glucose because of deficiency of

(1)  Glycogen phosphorylase (2) Hexokinase
(3)  Glucose — 6-phosphate (4) Phospho glucomutase
Options :

920906104245. 1
920906104246. 2
920906104247. 3
920906104248. 4

Question Number : 62 Question Id : 92090626383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffeaRad 3 3 s sfeaar & oo ARl I Wqe s $I SR T8l 1@ Idbd! 67

(1)  TdrSdoH BRSS!

(2) BHHIPISd

(3) TIHIS- 6 -BIEhC

(4)  HIH! gD IICH
Options :

920906104245. 1



920906104246. 2
920906104247. 3
920906104248. 4

Question Number : 63 Question Id : 92090626384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A normal family cycle is conceived as having deferent phases

A, Contraction

B Dissolution

C Formation

D. Complete extension
E.

Complete contraction

Choose the correct answer from the options given below :

1
2
(3
(4

DoB->C—oE—>A
CoDoA->E-B

(1)
(2)
) B-E->A—->D->C
)

BaoCoaDoSEaA

Options :

920906104249. 1
920906104250. 2
920906104251. 3
920906104252. 4

Question Number : 63 Question Id : 92090626384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=g 991 9 1 faftrd sawnd fFafafad €

A, Hpad

B. ufdemHA

C. -4

D. TiWdR

E. U §gad

414 fau U fasedl # 9 9l IR &1 994 Sifeid

(1) DaBaCoSE=A

2) C—->D—=sA-SE—>B

(3) BEoEaA->D-SC

(4) BoC—o>D—SE—=A
Options :

920906104249. 1
920906104250. 2
920906104251. 3
920906104252. 4

Question Number : 64 Question Id : 92090626385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following in true regarding case control study?

A Most expensive study

B Suitable for study of rare diseases
3 Involver large number of subjects
D. Starts with the disease
E

Proceeds from cause to effect

Choose the correct answer from the options given below :

(1) B, C and D only
(2) B and D only
(3) B, D and E only

(4) A DandEonly



Options :

920906104253. 1
920906104254. 2
920906104255. 3
920906104256. 4

Question Number : 64 Question Id : 92090626385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTHE a0 31eaH & ded | Rufifed A S s S gl g2

A, aide He g

B. guH Il & 34T g Sugad

C. WA $ i e it el
D. Y ARH

E.  HRUY UHE &I % dddl o
41 feu T fdsedi | | Hel IR &1 U Hifole :

(1) adB,C3RD

(2) HaaB3RD

(3) $adB, DRE

(4) ®adA DIRE
Options :

920906104253. 1
920906104254. 2
920906104255. 3
920906104256. 4

Question Number : 65 Question Id : 92090626386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Best method to show trend of events with passage of time is :

(1)  Bar diagram (2) Line diagram
(3) Histogram {4) Pie chart
Options :

920906104257. 1



920906104258. 2
920906104259. 3
920906104260. 4

Question Number : 65 Question Id : 92090626386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afamy gad geisil @1 ugi uefia #33 @t yafad fafd &

(1) d©38 g 2) ¥@-fE
3) omgd R (4) S
Options :

920906104257. 1
920906104258. 2
920906104259. 3
920906104260. 4

Question Number : 66 Question Id : 92090626387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Mala — N oral contraceptive pill is supplied free of cost

Statement Il : Mechanism of action of IUD is to prevent ovulation

In the light of the above statements, choose the correct answer from the options
given below :

) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3 Statement | is true but Statement Il is false
4 Statement | is false but Statement Il is true
Options :

920906104261. 1
920906104262. 2
920906104263. 3
920906104264. 4



Question Number : 66 Question Id : 92090626387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FyA MU E:

HUA | - HIdl - T gl - iFRive el &t Fied omgfd @1 @kl gl
HUA11: TS 31 B fhaifaftl &1 o1 feraeru H1 IS 8|

IWRIH HYA & el |, 412 fSU 70 fawel # 9 gl I &1 994 Fifeu

(1) ®YFIRIGHI 9d 8

2) YR ISHE A ®

(3) @Y Fd g, Al BYA |l 3 &
4) BYF| A g, Afhd FYF 11 9T 8

Options :

920906104261. 1
920906104262. 2
920906104263. 3
920906104264. 4

Question Number : 67 Question Id : 92090626388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the colour coding of the bag used in hospital to dispose human anatomical
waste such as body parts :

(1) Red (2) Yellow
(3)  Blue (4) Black
Options :

920906104265. 1
920906104266. 2
920906104267. 3
920906104268. 4

Question Number : 67 Question Id : 92090626388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Saral § IR S W O IS Ui & AR & Y g gF ard 9
B - IS F 87

(1) drd 2) dien
(3) @ (4) HIal
Options :

920906104265. 1
920906104266. 2
920906104267. 3
920906104268. 4

Question Number : 68 Question Id : 92090626389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (STD Kit color) List Il Syndrome

(A)  White () Genital ulcer disease

(B) Grey ()  Urethral/Cervical discharge
(C) Green () Vaginal discharge

(D) Yellow (IV) Lower Abdominal Pain

Choose the correct answer from the options given below:

(1) (A)-(10), (B)-(1), (C)-(I), (D)-(IV)
(2) (A)-(1), (B)-(IN), (C)-(I), (D)-(IV)
(3) (A)-(1), (B)-(1), (C)-(IV), (D)-(11)
(4) (A)-(11), (B)-(Hn), (C)-(N), (D)-(1V)

Options :

920906104269. 1
920906104270. 2
920906104271. 3
920906104272. 4

Question Number : 68 Question Id : 92090626389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | & G Gl 11 BT A $iferg

Tt (Tl fave 1 3 a1 (Rig)

(A) Thg () SEART 0T IR
(B) @) () AR TR 9
© B4 ay g EE
(D) YTaw (v) Y I g

+id fdu 7T fadedl § O gt 3T &1 9494 B

(1) (A=), (B)-(1), (C)-(H1), (D)-(1V)

(2)  (A)-(1), (B)-(11), (C)-(l1), (D)-(1V)

(3) (A=), (B)-(1), (C)-(IV), (D)-(1)

(4)  (A)-(I1), (B)-=(11), (C)-(1), (D)-(1V)

Options :

920906104269. 1
920906104270. 2
920906104271. 3
920906104272. 4

Question Number : 69 Question Id : 92090626390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Outbreak of gastroenteritis is the most common reported disease in
the post-disaster period.

Reasons (R) : WHO recommend typhoid and cholera vaccines in disaster affected
area.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :



920906104273. 1
920906104274. 2
920906104275. 3
920906104276. 4

Question Number : 69 Question Id : 92090626390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & HuA QU MU § UH HHDHUA (Assertion A)  FU  H fafda § df TR IHD
H[{U] (Reason R]aFFq ff;

HUFYT A - TEUIMY BT UHTY IR IS HTd | Halide AR ufadied I 81

PRUIR: =g Ud 3 9 3ugl uyifad &3 # TawEs SR dad & b P
ST D

JWIE HYA & 3dlid |, i feu U fawedi 1 9 el It &1 994 Difo

(1) A3 RS Hel € 3R R, A ®I el UAT &

) ASRRSHI TG E AP R AP Ul ARSI ASI &

3) AUSE PRI TS ®

(4 AT TRIE, ABARTE B

Options :

920906104273. 1
920906104274. 2
920906104275. 3
920906104276. 4

Question Number : 70 Question Id : 92090626391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Appropriate statistical method to compare two mean is :

(1 Chi-square test (2) Student's t—test
(3) Odds ratio (4) Correlation coefficient
Options :

920906104277. 1
920906104278. 2
920906104279. 3
920906104280. 4



Question Number : 70 Question Id : 92090626391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l HIed B a1 & fore Iuged gifere fafd g -

(1) IS A Tdem 2) faendf - odiam
3) fauw U@ (4) YgHdY Uie
Options :

920906104277. 1
920906104278. 2
920906104279. 3
920906104280. 4

Question Number : 71 Question Id : 92090626392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Methylene blue reduction test is wused for finding adequate
pasteurization of milk.

Statement Il : Cow's milk contains more carbohydrate than breast milk.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3 Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
Options :

920906104281. 1
920906104282. 2
920906104283. 3
920906104284. 4

Question Number : 71 Question Id : 92090626392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A HyE R E:
®YA | - AR A o= udieor S UEhT gy & gAY YRGHSRU giomy & fore fear

EIGI

YT 11 T P gY T Afgdl T & gy DI 30 HfiF Helemac gidl o
IWIad HYA & Mard |, A fSU U famed] # 9 el I 199 Hiferg

(1
(2)
(3)
(4)

YT AR G Td §
HYF | 3R 11T SR §
YA | A §, Alh- HYA || 38 &
HYF | A 8, AT HU 1| T &

Options :

920906104281. 1
920906104282. 2
920906104283. 3
920906104284. 4

Question Number : 72 Question Id : 92090626393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following microbes are acid fast?

A,

B
8
D.
E:

Mycobacterium Leprae
Cryptosporidium
Staphyloccus

Nocardia

Pseudomonas

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

A, D and E only
A, C and E only
A, B and D only
C and E only

Options :
920906104285. 1
920906104286. 2



920906104287. 3
920906104288. 4

Question Number : 72 Question Id : 92090626393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofafEa I 4 &9 4 geaela sra-wid €2
A WEHIAEITH AR

B. fopreiiifean

C. WHhEdididd

D. s

E.  HSHHEN

19 fau v faeedl § 9 9&l I &1 994 Siferw
(1) &HddA DIRE

(2) HaAA C3HRE

(3) FAdA, B3RD

(4) HAAC IRE
Options :

920906104285. 1
920906104286. 2
920906104287. 3
920906104288. 4

Question Number : 73 Question Id : 92090626394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Live 'attenuated’ vaccine (I) Diphtheria vaccine
(B) Subunit-Recombinant () BCG vaccine
Protein
(C) Subunit-Toxoid (Ill) Rabies vaccine

(D) Killed inactivated’ vaccine  (IV) Hepatitis B vaccine

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(11), (C)-(I), (D)-(111)
(2) (A=), (B)-(IV), (C)-(11), (D)-(1)
(3) (A=, (B)-(1V), (C)-(1), (D)-(1lT)
(4) (A0, (B)-(IV), (C)-(In), (D)-(1)
Options :

920906104289. 1
920906104290. 2
920906104291. 3
920906104292. 4

Question Number : 73 Question Id : 92090626394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gt | & Gy Gl 1| 1 A Sifo

gal-I geit-1
() Tolld (dIPa) fear 1 fEedifea &
(B) SUSHIR-YAEARIA ay &t Sl e
urd=

© QUSHIS- Siarasmy (DG EATE]
(D) Ha Ffssga e (v) eversfew dt fem

i f3u U fasmedl 1§ § 9l IR &1 99 BT

1
2

( A)-(IV), (B)-(IN), (C)-(1), (D)-(1)
(

(3

(

) (

) (A)-(Hn), (B)-(IV), (C)-(11), (D)-(1)
) (A)-(11), (B)-(1V), (C)-(1), (D)-(11)
) (

4 A)-(11), (B)-(1V), (C)-(l1), (D)-(1)



Options :

920906104289. 1
920906104290. 2
920906104291. 3
920906104292. 4

Question Number : 74 Question Id : 92090626395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Triangle of epidemiology includes interaction and interdependence of
agent, host, environment and time.

Statement Il : Epidemiological triad consist of agent, host and environment

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906104293. 1
920906104294. 2
920906104295. 3
920906104296. 4

Question Number : 74 Question Id : 92090626395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Fy kT E:

FYF| - HeMR! GF & B # siftedl uvund aramero aur g &t sHgi fhar siR
URER-Fr R wfie g @

YA 11 : HeHRI WRep 741 | 3ifiaral GIumt dur ardraeor midd gidr 8
IR HYF & 3ald H, g f3U U fdeedi J 9 Hgl 30 o1 99 Hifeg

(1) SYTISR IS g 8

2) ®YTISR I SH A §

(3) YT I, Al HYF Il AT ©
@) YT HEY g, AP B T ©

Options :

920906104293. 1
920906104294. 2
920906104295. 3
920906104296. 4

Question Number : 75 Question Id : 92090626396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All of the following are example of nominal scale Except :

(1)  Sex (2) Body weight
(3) Race (4) Socio-economic status
Options :

920906104297. 1
920906104298. 2
920906104299. 3
920906104300. 4

Question Number : 75 Question Id : 92090626396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofaiaa 7 A 9 v F SsH G4 AHAIES A9 & I &

(1)  fem 2) RIS 4R
3) difd (4) THTSE-3niie fRufa
Options :

920906104297. 1
920906104298. 2
920906104299. 3
920906104300. 4

Question Number : 76 Question Id : 92090626397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : IMNCI includes early neonatal care and home based care.

Statement Il : Pink color code represent urgent referral in IMNCI.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
Options :

920906104301. 1
920906104302. 2
920906104303. 3
920906104304. 4

Question Number : 76 Question Id : 92090626397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RAFERUME:

HU | ;TS T U 315 (IMNCI) T TaITd SEUTE 74T T8 SMUTRd SEHTE S gidl o
HY |1 - T[T T B Bl TS TH T T 312 T TehTel IhId B UKd Hdl o

I $YA & 3dld H, - fau 70 fawed # 9 9l 3R &1 994 Sifr

(1) &Y IR IS TT 8

(2)  ®YAI 3R I EH 3T §

3) YT A g, Al HYA 1l 3T &
(4) DY TG g, Al YA 1 TA &

Options :

920906104301. 1
920906104302. 2
920906104303. 3
920906104304. 4

Question Number : 77 Question Id : 92090626398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (vector) List Il (Disease)
(A) Anopheles mosquito (I) Dengue
(B) Culex mosquito ()  Scrub typhus
(C) Aedes mosquito () Malaria
(D) Mite (IV) Japanese encephalitis

Choose the correct answer from the options given below:

(1 (A=), (B)-(IV), (C)-(1), (D)-(111)
(2) (A=, (B)-(IV), (O-(1). (D)-(I)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(11)
(4) (A=, (B)-(1), (C)-(IV), (D)-(I1)
Options :

920906104305. 1
920906104306. 2
920906104307. 3
920906104308. 4



Question Number : 77 Question Id : 92090626398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i | & G Gl 11 BT e ey

-1 -
UEGIGEED I
@) TS TR n 3
(B) I H=H (1) %&b CI3hY
€ VS A= amy  HehEr
(D) &SI (V) SITOHE Ehgied
Hra feu T faweai § O Hel 3T &1 994 B
(1) (A)-(1), (B)-(V), (C)-(), (D)-(1ll)
2 (A0, (B)-(IV), (C)-(1), (D)-(11)
(3)  (A)-(V), (B)-(IlI), (C)-(1), (D)-(I1)
(4)  (A)-(), (B)-(I), (C)-(IV), (D)-(Il)
Options :

920906104305. 1
920906104306. 2
920906104307. 3
920906104308. 4

Question Number : 78 Question Id : 92090626399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Deficiency) List Il (Disease)
(A) Retinol () Beri-beri
(B) Thiamine (I} Xerophthalmia
(C) Iron ()  Scurvy
(D) Ascorbic acid (IV) Anemia

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(I1), (C)-(1IV), (D)-(1)

(2) (A)-(1), (B)-(l1), (C)-(1n), (D)-(1V)

(3) (A)-(1), (B)-(1), (C)-(1V), (D)-(lIT)

(4) (A)-(11), (B)-(1), (C)-(IH1), (D)-(IV)
Options :

920906104309. 1
920906104310. 2
920906104311. 3
920906104312. 4

Question Number : 78 Question Id : 92090626399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | 3 Ay G 1 @ e s

l-1 HH (ST -1l ()
(a) feHrd 1 S-ad

@) TenfiE () SR dfcTr
(C) T (3MERA) (ny  df

(D) UEhIfdd v (V) JadIeddl (QHiTeE)

i feu v fadedl 5 O get 3 &1 994 DI

(1 (A)-(11), (B)-(1, (C)-(IV), (D)-(1)
(2 (A)-(1), (B)-(II), (C)-(1), (D)-(IV)
( (
( (

L—

3
4)

L

A)-(I1), (B)-(1). (C)-(IV), (D)-(llry
A)-(11), (B)-(1), (©)-(1), (D)-(IV)

Options :
9209061043009. 1



920906104310. 2
920906104311. 3
920906104312. 4

Question Number : 79 Question Id : 92090626400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which pneumoconiosis is caused by exposure to cotton dust?

(1) Byssinosis (2) Bagassosis
(3) Siderosis (4) Farmer's lung
Options :

920906104313. 1
920906104314. 2
920906104315. 3
920906104316. 4

Question Number : 79 Question Id : 92090626400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafed ¥ 9 oF 9 $upd yfeHgd S B ¢fd o UHTidd & SR Sl 67

(1) <R (2) S
(3) dreHgd 4) T&aH &1 BHST
Options :

920906104313. 1
920906104314. 2
920906104315. 3
920906104316. 4

Question Number : 80 Question Id : 92090626401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Institute) List Il (Location)
(A) Central Drug Research Institute (CDRI) ()  Chennai
(B) National AIDS control Organisation (NACO) (1) Lucknow
(C) Tuberculosis Research Institute (TRC) (i) Bengaluru
(D) National Institute of Mental Health and (IV) New Delhi

Neurosciences (NIMHABS)

Choose the correct answer from the options given below:

(1 (A)-(), (B)-(V), (C)-(1), (D)-(11D)
(2)  (A)-(1v), (B)-(11), (C)-(1), (D)-(1)
(3)  (A)-(), (B)-(V), (C)-(I), (D)-(1)
(4)  (A)-(1), (B)-(1), (O)-(1V), (D)-(11)

Options :

920906104317. 1
920906104318. 2
920906104319. 3
920906104320. 4

Question Number : 80 Question Id : 92090626401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | 3 Ay g 11 @ e S

-1 (HRTE) -1 (R
(A) BT NG SIYF FRIF (COR) () o3
(8) TP USH AU WUSA (NACO) (1) IS

(€ & T STHYH HRIH (TRC) iy SIS
(D) P AFTYS WA Ud did fage v A8 et
YR (NIMHANS)

4 U v fawmedl | 9 91 ST &1 994 S

(1) (A)-(11), (B)-(1V), (C)-(1), (D)-(I1)

(2) (A)-(IV), (B)-(I1), (C)-(1), (D)-(11)

(3) (A)-(11), (B)-(IV), (C)-(l1), (D)-(1)

(4) (A)-(1), (B)-(1), (C)-(IV), (D)-(1)
Options :

920906104317. 1
920906104318. 2
920906104319. 3
920906104320. 4

Question Number : 81 Question Id : 92090626402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (Causative organism) List Il (Disease)
(A) Coxiella Burnetti ()  Endemic typhus
(B) Yersinia pestis (1) Q fever
(C) Rickettsia tsutsuganushi (Ilfy  Scrub typhus
(D) Rickettsia typhi (IV) Plague

Choose the correct answer from the options given below:

(1) (A, (B)-(V), (O)-(1). (D)-(1)
(@ (A)-(IV), (B)-(llT), (C)-(1). (D)-(IN)
(3) (A=, (B)-(IV), (C)-(1), (D)-(1)
(@) (A=), (B)-(IV), (C)-(1), (D)-(1)



Options :

920906104321. 1
920906104322. 2
920906104323. 3
920906104324. 4

Question Number : 81 Question Id : 92090626402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i | b T Gl 11 BT e iy

-1 (TGS Sild) Tt @)
(A) HEHTA gl ) AP eEHY
(B) ol uRed Iy TYIER
© RecmmgaEmElt oy ®hd TREH
D) FbeRm erswl (v) @
il fau U faedi § € gl 3T &1 994 ST
(1) (A)-(), (B)-(IV), (C)-(11), (D)-(1)
(2)  (A)-(V), (B)-(), (C)-(1), (D)-(IN)
(3) (A, (B)-(1V), (Q)-(1), (D)-(111)
) (A-(, B)-(V), (OQ)-(IIN), (D)-(1)

Options :

920906104321. 1
920906104322. 2
920906104323. 3
920906104324. 4

Question Number : 82 Question Id : 92090626403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Consumption of Khesari Dal can cause lathyrism

Reasons (R) : Betaoxalyl amino alanine is a nerve toxin present in Khesari dal seeds.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1

) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
)

(3
(4) (A) is not correct but (R) is correct

(A) is correct but (R) is not correct

Options :

920906104325. 1
920906104326. 2
920906104327. 3
920906104328. 4

Question Number : 82 Question Id : 92090626403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

92 @ &Y 3T U § UF YFY (Assertion A) & ®U  H fafdd g @ g1 I9&
IR0 (Reason R]a?Fq fl}

AFYT A - TR &Td & IJUHNT & SR FaraE (adiReH) 8 9&dl g

PRUIR - @H@Eﬂ%&%ﬁﬁﬁaaﬁmﬁamqﬂqwﬁﬂamm
GGl

I DY & Al H, Ad ST U f[dhed] J 9 Tel I &1 994 Dol

(1)  ASIRREHI Hal g 3R R, A DI Hel ARAT §

) AARREH G €, b R A D T ARAT G &
) AWEE APTRUGI T8

(4 AW TIE ABTRIL R

Options :

920906104325. 1
920906104326. 2
920906104327. 3



920906104328. 4

Question Number : 83 Question Id : 92090626404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | (Theory) List 1l (Given By)
(A) Web of Causation (I) Patten Koffer
(B) Germ theory of disease (1)  Macmohan Pugh
(C) Multi-factorial causation of Disease () Louis Pasteur
(D) Spontaneous generation theory (IV) Aristotle

Choose the correct answer from the options given below:

(M (A1), (B)-(I), (C)-(1), (D)-(IV)
@) (A1), (B)-(1), (O, (D)-(IV)
(3) (A0, (B)-(1, (C)-(1), (D)-(IV)
4)  (A)-(V), (B)-(11), (C)-(1), (D)-(1lT)

Options :

920906104329. 1
920906104330. 2
920906104331. 3
920906104332. 4

Question Number : 83 Question Id : 92090626404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & | Gl 1| BT fe Sifeg
-1 (Rrgid) eIl (GRT Ued)

(A) HRUE BT HaTd N YeIBIER
B) 1AM Rgid iy AHHE 3R G
© I P §§ HHOE () Ted URER

EALRG

(D) Ed: & Rgid (Iv) SRE]
Hid f4u U fdwedi ¥ Hel I D1 999 BT
(m (A)-(11), (B)-(l), (C)-(1), (D)-(IV)
(2) (A)-(11), (B)-(), (C)-(1n), (D)-(IV)
(3) (A)-(l), (B)-(11), (©)-(1), (D)-(IV)
(4) (A)-(IV), (B)-(1), (C)-(1), (D)-(II)

Options :

920906104329. 1
920906104330. 2
920906104331. 3
920906104332. 4

Question Number : 84 Question Id : 92090626405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bidirectional screening has been recommended for —

A, HIV
B TB

& Diabetes Mellitus
D. Cancer

E Hypertension

Choose the correct answer from the options given below :

(1) A and B only
(2) AandD only
(3 B and C only
(4) CandEonly

Options :



920906104333. 1
920906104334. 2
920906104335. 3
920906104336. 4

Question Number : 84 Question Id : 92090626405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafe=ita St Fofafad 7 4 fead e sFRifd &:
A TS Gl

B. &M

C. HYHg

D. D I (W)

E. 3" Iggdam
e f3u e fasedi § ¥ Wl I &1 9uH Hifo -

(1) FHadA3IRB

(2) Pad AR D

3) HAAB3RC

(4) PAAC IARE
Options :

920906104333. 1
920906104334. 2
920906104335. 3
920906104336. 4

Question Number : 85 Question Id : 92090626406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Adverse events following immunization caused by-

A Age of vaccine recipient

B Immunization error related reaction
C Vaccine product related reaction

D. Coincidental events
E

Immunization anxiety related reaction

Choose the correct answer from the options given below :

(1 B, C, D and E only
(2) A, B and C only
(3) B and C only

(4) B, CandEonly

Options :

920906104337. 1
920906104338. 2
920906104339. 3
920906104340. 4

Question Number : 85 Question Id : 92090626406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HfcRefieu1 3 srguTer A 819 arelt uftigra g Frafaf@d & gri e &

A, d&RIH UTEd B S

B. WfaRaisur Ffe deieh srfdfehan
C. dRi Iaure Hddh affear
D. Hulfid® gemd

E. WicRalieor gigha deel sifvifchan
Hra fau e fadel & 4 UEt IR &1 909 Hifoi ;
(1) &adaB,C D3RE

2) FAAA, B, 3R C
3) HaABARC
4) PHAAB, C IARE

Options :



920906104337. 1
920906104338. 2
920906104339. 3
920906104340. 4

Question Number : 86 Question Id : 92090626407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has been recommended for prevention of NCDs?

A 150 min of moderate to high intensity exercise per week.
B Keeping BMI less than 22.9 kg/m?

2 Shifting to e- cigarettes from tobacco based cigarettes
D. More than 20 g / day of dietary fibre consumption
E.

Vegetarian diet

Choose the correct answer from the options given below :

(1) B, C, E only

(2) B and E only

(3) A, B and D only

4) A, B and E only
Options :

920906104341. 1
920906104342. 2
920906104343. 3
920906104344. 4

Question Number : 86 Question Id : 92090626407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tA 4t 3t fFaru g Mufafed & 3 feaat sz o1 715 82
A ufd IedE ¥ad 9 3= digdl 9rd 1508 &1 sarar|

B. 229 fun/ ik ¥ &u ot uh o &
C. arEIP Auid RRe 9 3-RRe & 3R ufawime
D. 2079y & ¥ 3t Sryedl BIgar &1 IUHAT
E SRR SMER
1 fou e fdsedi & 9 el IR &1 994 Sifoe :
(1) ddB,CE
(2) ®HadB3RE
(3) FadA BHRD
(4) HadA BS3RE
Options :

920906104341. 1
920906104342. 2
920906104343. 3
920906104344. 4

Question Number : 87 Question Id : 92090626408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Carriers are more important source of infection than cases in
meningococcal meningitis.

Statement Il : Chemoprophylaxis of close contacts of cases is not recommended.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :



920906104345. 1
920906104346. 2
920906104347. 3
920906104348. 4

Question Number : 87 Question Id : 92090626408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3 YA UL E:
FYA| : ﬁa?%ﬁwﬁﬁﬁﬁﬁﬂﬁm,nmﬁﬁwﬁwawmwm
YT - m%ﬁmmﬁmwmﬂﬁﬁmﬁm;aﬁmaﬁ

IR HYF & 3l H A ST U fdded] # 9 Tel I $1 99+ Hiferg

(1) YIRS II®

@ Y1 SIR I IE T &

(3) YA FA g, Alchd HYF 1l 3 B
(4)  HYT| U g, A HYT 1 T ¢

Options :

920906104345. 1
920906104346. 2
920906104347. 3
920906104348. 4

Question Number : 88 Question Id : 92090626409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a part of communication process?

(1)  Sender (2) Authority
(3) Feedback (4) Receivers
Options :

920906104349. 1
920906104350. 2
920906104351. 3



920906104352. 4

Question Number : 88 Question Id : 92090626409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Ui &1 4 Fgfafad § 3 19 91 78 82

(1) USd 2) UMgPpR
3) wfag® (4) Ul
Options :

920906104349. 1
920906104350. 2
920906104351. 3
920906104352. 4

Question Number : 89 Question Id : 92090626410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Histogram is used as method of group presentation for :

(1) Qualitative data (2) Quantitative Continuous data
(3) Quantitative Discrete data (4) MNominal data
Options :

920906104353. 1
920906104354. 2
920906104355. 3
920906104356. 4

Question Number : 89 Question Id : 92090626410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jraa = &1 wa Fofefad d 3 foad angfed uxgeol &t faftl & wu 7 o rar 82

(1) T[UTHS STeT (2) HAHEHS Had SIel
(3) HEHS HTdd ST (4) A& S1eT
Options :

920906104353. 1



920906104354. 2
920906104355. 3
920906104356. 4

Question Number : 90 Question Id : 92090626411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Framingham Heart study is an example of case- control study

Statement Il : Strength of association in a cohort study is evaluated by Relative Risk.

In the light of the above statements, choose the correct answer from the options
given below :

()] Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement |l is true

Options :

920906104357. 1
920906104358. 2
920906104359. 3
920906104360. 4

Question Number : 90 Question Id : 92090626411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MR Hy R e:

&Y | ThiHYH B¢ w3 HIHdl YA 3ege U6 360 §

&Y || - TSIV {eAgA H gigad o Widy rdeft Sifen & g1 gedifbd &t 9l §
I BYA & il H, 912 fau 70 fawel 7 9 g8t IR &1 90 Fifeu

1) BY R AT IR

2 @Y1 SR I GH 3 8

(3)  BYT | HA g, Aich HYA 11 3T §
(4) ©YF| A g, Al Y 1| T &

Options :

920906104357. 1
920906104358. 2
920906104359. 3
920906104360. 4

Question Number : 91 Question Id : 92090626412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Post-Coital contraceptive include—

A, Ethinyl estradiol 0.75 mg
B Iub

G Levonorgestrel 0.75 mg
D. DMPA

E. Mife pristone 10 mg

Choose the correct answer from the options given below :

(1) A and E only
(2) B, D and E only
(3) A, Cand E only
(4) B, C and E only
Options :
920906104361. 1
920906104362. 2

920906104363. 3
920906104364. 4



Question Number : 91 Question Id : 92090626412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IWR- Ay miFRIys o e &
A UUAd gRisad 0.75 i
B. 3% gl (UD)
c. faamcRed 0.75 fim
D. Slumgdlu(DMPA)
E. WIS e 10 fion
< feu U ol 7 I Wel IR &1 90 S :

(1) PHAAASANRE

2) $adB D3RE

3) HaAA C3HRE

(4) PAAB, CHRE
Options :

920906104361. 1
920906104362. 2
920906104363. 3
920906104364. 4

Question Number : 92 Question Id : 92090626413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Biomedical waste of Urine bags and Catheters are collected in Red
bag.
Statement Il  : Incineration is done for human anatomical waste.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement |l is false

(4 Statement | is false but Statement Il is true
Options :

920906104365. 1
920906104366. 2
920906104367. 3
920906104368. 4

Question Number : 92 Question Id : 92090626413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy feu U E:
YA | :ggﬁ%ﬁﬁﬁwwﬁ%éﬂﬁmmmmaﬁnﬁwﬁam

YA |- A IR TATHS 3102y & forg wadiewo feear @an g
JIWad HYA & 3l H A ST U f[dped] d § 9el I &1 994 Siferg

(1) ®YTIRIGHIgd g

2) @Y IRISHE A E®

(3) @Y Id g, Al By |l 3 §
(4) BYTIAEIE, AP BN TIE

Options :

920906104365. 1
920906104366. 2
920906104367. 3
920906104368. 4



Question Number : 93 Question Id : 92090626414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Orthotolidine test is used for detecting.

(1)  Ammonia (2) Chlorine
(3) DDT (4) Nitrate
Options :

920906104369. 1
920906104370. 2
920906104371. 3
920906104372. 4

Question Number : 93 Question Id : 92090626414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 ¥ fgew udr @ H & forg smuferarsie ufvearr &1 wan faar siran 82

(1) 3 (2) TR
3 Sigtd (4) gee
Options :

920906104369. 1
920906104370. 2
920906104371. 3
920906104372. 4

Question Number : 94 Question Id : 92090626415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chance of disease development is same among exposed as compared to non-exposed
when—

(1 Relative Risk >1 (2) Relative Risk =2
(3) Relative Risk =1 (4) Relative Risk <1
Options :

920906104373. 1



920906104374. 2
920906104375. 3
920906104376. 4

Question Number : 94 Question Id : 92090626415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U&He U UdHe P ga- H A7 & [dbT &1 GrTa1 §9E gidl 8, oa-

(1) T8 ShfEH >1 (2) HUe SiREH >2
(3) U WifEgA=1 (4) WY& FIRgA<1
Options :

920906104373. 1
920906104374. 2
920906104375. 3
920906104376. 4

Question Number : 95 Question Id : 92090626416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kaplan — Meier method is used for—

(1) Contraception (2) Dietary advice
(3) Survival analysis (4) Bias estimation
Options :

920906104377. 1
920906104378. 2
920906104379. 3
920906104380. 4

Question Number : 95 Question Id : 92090626416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIga- AR fafd &1 v fead fom i sran g 2

M TRy (2) SR Hatd gare
(3)  IxiReid! fageyor (4) U&UTd g9
Options :

920906104377. 1
920906104378. 2
920906104379. 3
920906104380. 4

Question Number : 96 Question Id : 92090626417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘STEPS' is recommended by Who for—

(1) Surveillance of risk factor for communicable diseases.
(2) Surveillance of risk factors for non - communicable diseases.
(3)  Surveillance of mortality factor of communicable diseases.
&Y Surveillance of risk factor for maternal mortality.

Options :

920906104381. 1
920906104382. 2
920906104383. 3
920906104384. 4

Question Number : 96 Question Id : 92090626417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHO gRI fdseds foTe ‘STEPS' 1 ST &1 Wl 87

) fcr sife e e PR Sigfirad e
(2) widai 3 s Bhaed BR T Sigfded fSoies
(3) widaiy 3 e AT thaer Sifs ShgfAdad fEuiors
4)  Gfdard 3HTe Fw thaex BR Aed Alciae!
Options :

920906104381. 1
920906104382. 2



920906104383. 3
920906104384. 4

Question Number : 97 Question Id : 92090626418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Minimum depth for the lining of sanitary well is—

(1) 10 ft. 2) 20
(3) 35 ft. (4) 50 ft.
Options :

920906104385. 1
920906104386. 2
920906104387. 3
920906104388. 4

Question Number : 97 Question Id : 92090626418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W3l B B YA I8 BT FAdH TTevs ¢ -

(1) 10wl (2) 20Wie
(3) 35WiE (4) 50 WIE
Options :

920906104385. 1
920906104386. 2
920906104387. 3
920906104388. 4

Question Number : 98 Question Id : 92090626419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per International Health Regulation, Aedes Aegypti index is kept below which level
around airports?

M 1% 2) 5%
3) 8% (4) 10%

Options :



920906104389. 1
920906104390. 2
920906104391. 3
920906104392. 4

Question Number : 98 Question Id : 92090626419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy ey fafgH & 3uR, TS Ufp! Yaeis Bl fanr ol & Sraury fy R
Y I @1 Sl 87

(M 1% (2) 5%
(3) 8% 4 10%

Options :

920906104389.
920906104390.
920906104391.
920906104392.

AW NN~

Question Number : 99 Question Id : 92090626420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All are method of bacteriological surveillance of water except-

(1) Multiple tube method (2) Methylene blue Reduction tent
(3) Colony count (4) Membrane filtration technigue
Options :

920906104393. 1
920906104394. 2
920906104395. 3
920906104396. 4

Question Number : 99 Question Id : 92090626420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o &1 Siamua® AR Sl faftan faa 0@ & s 82

(1) ogd s fafd

) A s ReawH gdiam
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Options :

920906104393. 1
920906104394. 2
920906104395. 3
920906104396. 4

Question Number : 100 Question Id : 92090626421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maijor criteria for a screening test in a community setting depends upon high—

(1)  Sensitivity (2) Specificity
(3) Predictive value (4) Reliability
Options :

920906104397. 1
920906104398. 2
920906104399. 3
920906104400. 4

Question Number : 100 Question Id : 92090626421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  Hdguiidd

2)  fafRrwar

(3) qaigHa AE

4)  Tayg-gan
Options :

920906104397. 1
920906104398. 2



920906104399. 3
920906104400. 4



